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#include<bits/stdc++.h>
using namespace std;
const int N= ;
typedef long long 11;
1l tr[N*4],alN];
inline int 1s(int o
o<<1;
inline int rs(int o
0<<1]|1;
void push up(int o
triol=tr{ls(o) +trirs(o)];

void build(int o,int 1,int r
l==r
trlol=alll;

’

int mid=1+r>>1;
build(ls(o),1,mid);
build(rs(o),mid+1,r);

push up(o);
void xg(int o,int pos,int 1,int r,11 k,int op
l==r
op==1) trlol+=k;

trlol=k;
int mid=1+r>>1;

pos<=mid) xg(ls(o),pos,l,mid,k,op);
xg(rs(o),pos,mid+1,r,k,op);

push up(o);
1l cx(int o,int nl,int nr,int 1,int r
nl<=1&&r<=nr triol;
int mid=l+r>>1;
11 ret=0;

nl<=mid) ret+=cx(ls(o),nl,nr,1,mid);
nr>mid) ret+=cx(rs(o),nl,nr,mid+1,r);
ret;
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int main
int n,m;
scanf("%d %d",&n,&m);
int i=1;i<=n;i++
scanf("%d",&ali]);

build(1,1,n);

int i=1;i<=m;i++

int op;

scanf("%sd",&op);
op==1] |op==
int pos;
11 k;
scanf("%d sLld",&pos,&K) ;
xg(1l,pos,1l,n,k,op);

int 1,r;
scanf("%d %d",&L,&r) ;
printf("slld\n",cx(1,1,r,1,n));

Oo0000s$n$000n00os$\{an\}$Q0O00O0DOODOOO
1.0 $a_x(\Ne x \le r)$0 O $y$;

2.0 0 $\sum {i=I}"ra_is0 O

$1\le n,q\le 10™5%

gogooooogo

goo

#include<bits/stdc++.h>
using namespace std;
const int N= ;
typedef long long 11;
1l trN*4],tag/N*4],a[N];
inline int 1s(int o
o<<l;
inline int rs(int o
o<<1l|1;
void push up(int o
triol=tr{ls(o) +trirs(o)];
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void build(int o,int 1,int r
l==r
triol=alll;

’

int mid=l+r>>1;
build(ls(o),1l,mid);
build(rs(o),mid+1,r);
push up(o);

void f(int o,int 1,int r,11 k
taglol+=k;
triol+=(r-1+1)*k;

void push down(int o,int 1,int r
int mid=1l+r>>1;
f(ls(o),l,mid,tag/o]);
firs(o),mid+1,r,taglo]);
taglo|=0;

void xg(int o,int nl,int nr,int 1,int r,11 kK
nl<=1&&r<=nr
taglo|+=Kk;
triol+=(r-1+1)*k;

.
1

push down(o,l,r);
int mid=l+r>>1;
nl<=mid) xg(ls(o),nl,nr,l,mid,k);
nr>mid) xg(rs(o),nl,nr,mid+1,r,k);
push up(o);

11 cx(int o,int nl,int nr,int 1,int r

nl<=1&&r<=nr trlol;

push down(o,l,r);

int mid=l+r>>1;

1l ret=0;
nl<=mid) ret+=cx(ls(o),nl,nr,1,mid);
nr>mid) ret+=cx(rs(o),nl,nr,mid+1,r);

ret;

int main
int n,m;
scanf("%d %d",&n,&m) ;
int i=1;i<=n;i++
scanf("%d",&ali]);

build(1,1,n);
int i=1;i<=m;i++
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int op;
scanf("%sd",&op) ;

op==
int x,y; 1l k;

scanf("%d %d sLld",&x,&y,&K) ;
xg(1l,x,y,1,n,k);

int x,y;
scanf("%d %d",&x,&y);
printf("slld\n",cx(1,x,y,1,n));

00000%n$00000%\{an}$j000000000
1.0 %$a_x(Ne x \le r)$0 O $y$;

2.0 $a_x(I\le x \le N$0 O $y$;

3.0 $a_x(I\le x \le N$0 O $y$;

4.0 0 $\sum _{i=I}"ra_i$0 O

$1\le n,q\le 10°5%

obooboboobooobo=00>=00

#include<bits/stdc++.h>
using namespace std;
const int N= :
typedef long long 11;
int n,m,p;
11U tr[N*4] ,mul[N*4],add[N*4],asi[N*4],a[N];
inline int ls(int o
o<<l1;
inline int rs(int o
0<<1]|1;
void push up(int o
triol=tr{ls(o) +trirs(o)];

void build(int o,int 1,int r
mullol=1;
asifol=-1;
l==r
triol=alll;
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int mid=1+r>>1;
build(ls(o),1,mid);
build(rs(o),mid+1,r);
push up(o);

void f(int o,int 1,int r,11 k
triol=(trlol+(r-1+1)*k)%p;
add/o/=(add o/ +k)%p;

void g(int o,int 1,int r,11 k
triol=triol*k%p;
mulio/=mul|o|*k%p;
add|/o/=add o *k%p;

void h(int o,int 1,int r,11 k

asilol=k;
triol=k*(r-1+1)%p;

void push down(int o,int 1,int r
int mid=1+r>>1;
asilo]!=-
h(ls(o),l,mid,asilo]);
h(rs(o),mid+1,r,asilol);
asilol=-1;

mullo|!=
g(ls(o),l,mid,mulio] );
g(rs(o),mid+1,r,mullo]);
muliol=1;

add|/o
f(ls(o),l,mid,addo]);
f(rs(o),mid+1,r,addo]);
add[o]|=0;

void xg(int o,int nl,int nr,int 1,int r,11 k,int op
nl<=1&&r<=nr
op==
mulio/=mul|o]*k%p;
add o/ =add|o | *k%p;
triol=triol*k%p;

0p==
add/o/=(add[o/+k)%p;
triol=(triol+(r-1+1)*k

o°
©
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op==
add[o]=0;
muliol=1;
triol=k*(r-1+1)%p;
asilol=k;

.
’

push down(o,l,r);
int mid=1+r>>1;

’

nl<=mid) xg(ls(o),nl,nr,1,mid,k,op);
nr>mid) xg(rs(o),nl,nr,mid+1,r,k,op);

push up(o);

11 cx(int o,int nl,int nr,int 1,int r
nl<=1&&r<=nr trlo
push down(o,l,r);
int mid=1+r>>1;
11 ret=0;

’

nl<=mid) ret=(ret+cx(ls(o),nl,nr,1,mid

nr>mid) ret=(ret+cx(rs(o),nl,nr,mid+1,r

ret;

int main
scanf("%d %d %d",&n,&m,&p) ;

int i=1;i<=n;i++) scanf("%lLld",&al1

build(1,1,n);
int i=1;i<=m;i++
int op,X,Y;
scanf("%d %d %d",&op,&x,&y) ;
op==1]|op==2][op==
1l k;

scanf("s1lld",&Kk) ;
xg(1l,x,y,1,n,k,op);

printf("slld\n",cx(1,X,y,

0og
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